International Trade Overview


I. Why is there international trade?
A.
Absolute advantage 
1. A producer can produce more of a good or service than the other with the same amount of resources (more efficiently)

2. Example: The United States has an absolute advantage in computers over Ecuador, which has an absolute advantage in coffee production.

B.
Comparative advantage
1.
A producer can produce a good or service at a lower opportunity cost than another producer.

2.
Example: Philippines has SOME skilled labor and capital, and can produce a limited quantity of electric drills, but not efficiently. The United States has unskilled labor that can produce bed spreads, but not cheaply. For the U.S. to specialize in bedspreads, it must give up 2 electric drills. For the Philippines to produce one electric drill, it must give up 3 bed spreads. The U.S. should produce electric drills because it has a lower opportunity cost, and the P.I. should produce bed spreads. They both maximize their production.

C.
Specialization
1. It makes sense, considering the labor market, resources and level of technology, for the United States to specialize in industries that require highly skilled, highly paid labor.

2. Specialization of production requires that each nation must engage in trade to sell its surplus production and acquire what it does not produce through trade with other nations.

3. One problem is that high technology goods and services make much more money for the richer countries than commodities (coffee, rice, etc.) make for the developing or lesser developed countries. If they continue to specialize in low income-elastic goods and services, they will continue to be poor.

D.
Increasing Costs
1. Philippines has SOME skilled labor and capital, and can produce a limited quantity of electric drills, but not enough to meet domestic demand, and not efficiently. The United States has unskilled labor that can produce bed spreads, but not enough to meet domestic demand, especially for the low-end market. It makes sense for the U.S. to specialize in electric drills, and to trade for bed spreads with the Philippines.

2. Increasing costs - the rise in average production costs as the quantity of output of the good increases (law of diminishing returns)

II. Trade Unions

A. Free Trade Area - an agreement to eliminate tariffs among member countries, but each country has its own tariff levels with outside countries.
B. Customs Union - a free-trade area with common external tariffs.

C. Common Market - a customs union that allows the free movement of capital and labor among its member-states.

D. Economic Union - A common market, but with a common currency and common monetary and fiscal policies.

E. Trade-offs – 
1. Restricts international trade in favor of trade with member states

2. Can raise prices for consumers.

3. Some protected industries shrivel up and die under the light of competition, even competition from within the trade union.

4. Some workers are not willing or able to move to where the jobs are, and may be unemployed, or underemployed.

III.
Who Benefits from Trade?

A. Consumers 

1. Greater variety of goods and services. Gain access to goods and services from all over the world. For example, dates from Saudi Arabia, bananas from Thailand.

2. Prices are generally lower because of competition from countries with cheaper labor, and therefore cheaper production costs. Import-competing industry, one that produces the same or a close substitute good that competes in the domestic market with imports, is forced to lower its prices.

3. Consumers gain access to a greater quantity than can be produced domestically (eliminates shortages).
B.
Producers 

1. Gain access to cheap raw materials.
2. Buy parts and semi-finished components from both foreign and domestic-owned businesses.

3. Can sell far more than the domestic market demands.

C. Workers
1. More jobs due to expanded markets and cheaper raw materials 
2. Possibly higher pay due to higher profits
IV. Who loses from Free Trade?

A. Producers - Cannot compete with foreign competitors and go out of business or downsize. Prices decrease, but with increased competition, so might Total Revenue.
B. Workers who cannot retrain or move to where there are jobs become unemployed.

C. Mobility of Capital and Labor - Factors of production are not always easy to move to where they are most needed. (India has a huge, highly educated labor force; the U.S. has a shortage of computer engineers. Result - Brain Drain). Workers are laid off, the environment is destroyed, and everyone is susceptible to wars, natural disasters, etc, all over the world).

D. Governments risk losing elections if they do not protect workers, but sometimes it is inevitable.

E. Domino effect - A recession in one country can cause a worldwide recession.

V. What do countries import?

A.
Goods (merchandise)

1. textiles and clothing

2. machinery

3. food and agricultural products

4. minerals and gems

5. cars, stereos, etc.

B.
Services

1. tourism

2. banking and other financial services

3. insurance and investment services

4. education, etc.

VI.
How do we restrict Foreign Trade?

A.
Tariff
1. a tax on imports either

2. raise a great deal of revenue for government

3. make imports more expensive, to protect domestic markets

4. results in gains for producers, losses for consumers (higher prices and less quantity supplied)
B.
Quotas
1. A limit on the quantity or value of a good that can be imported in a given time period (a set number of units or a set dollar value)

2. Can be on a specific good (e.g. cars) or on a specific country (e.g. Japanese cars)

3. Reduces supply and drives prices up, but protects the domestic producers

C.
Other Barriers
1. restrictions on imports resulting from enforcement of domestic standards

2. a prohibition on the export of commodities, capital or technology, often for political reasons (missile technology to North Korea, for example)

3. an embargo on imports from a particular country or a particular product. For example, Cuban cigars.

VII. Should Foreign Trade be Restricted?

A.
Protectionism - measures taken by a government in order to limit or exclude imports that compete with domestic production. Problems: Raises prices, reduces supply. Foreign workers often continue to get low wages, and cannot get enough money to buy U.S. products. U.S. workers in foreign-owned companies in the U.S. lose their jobs. Finally, protectionism may keep inefficient, expensive industries afloat at the expense of the consumer and workers. No incentive to keep up to date or be efficient.

B.
Terms of Trade - ratio of average export prices to average import prices. Countries increase their purchasing power by increasing their exports in relation to their imports
C.
Neomercantilist Arguments - restrict imports, maximize exports, and restrict exports of technology and high tech machinery.
D.
The Power of Special Interests

1. producers lobby the government

2. labor unions fight for domestic industry protection

